Practice Test 19
Class Objective: | am able to answer all the questions based on what is taught till now
Practice A: Change into appropriate form
Bl TR BHD)NET - K(DD)NTE T IR(EAFE)A H(T)T LFEVELT,
1. TE(FF=5)EET - JER/R(VEIE)C BUFET L
2. BBSHERD)AFT - 17ELKSIT LT IS,
3. EMS TZRZEILFY - IDT.E&ME FKHDR)A &E(L)LTY,
4. FIEEZEMRT)VET - 1GE BEOLLR)IC S(L)bhELE,

5. #AR(FTITE)TAIE ZER(EAITD) BEMDR)ZIME(ODOMLNET - 1& E(LVY)V>T WVFE
L=,

6. O aE—(F FLC)ATMBLY)ENTT - IL.EGI)LL. F(K)OFE A,

Practice B: Choose the Correct Option

R(D)AFET AE(T)HFT . HOYFET . EM)DIVFTT . H(BHD)EFT . B(HB)EFT . AR
FY.ELDNAFET

(L) DrEE(EAEDN)D FE(FEL)E NP TNNTT,

Bl BRE(ESZFLD)E Bl(S-om)A E(F=h)KT E@F)HILKWTT,
1. 2D #HEKD)IE E(FBB)KT.

2. 20O FEKTYIX NMBWNVYXKT,
3. vkl ik Mo, R (E)E DIHFT =&y,
4. W(HH)D BHW)IE B(S329)FHLI)HD

5. 20O R(WLA)F HE(EWLWES)T ()2 T HIFEIT L. KEDL)D L& R
2(HAEA)TT,

Practice C: Change into appropriate form
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